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Find the complex number z which satisfies 2z = 2− 3i.

A −3i4− 6i−1 + 3
2i1− 3

2 i B −3i4− 6i−1 + 3
2i1− 3

2 i

C −3i4− 6i−1 + 3
2i1− 3

2 i D −3i4− 6i−1 + 3
2i1− 3

2 i



Simplify i15.

A −11−ii B −11−ii

C −11−ii D −11−ii



Find the polar form of the complex number z = 2i.

A
√

2
(

cos π2 + i sin π2

)
2

(
cos π2 + i sin π2

)
cos π2 + i sin π22 (cos 0 + i sin 0) B

√
2

(
cos π2 + i sin π2

)
2

(
cos π2 + i sin π2

)
cos π2 + i sin π22 (cos 0 + i sin 0)

C
√

2
(

cos π2 + i sin π2

)
2

(
cos π2 + i sin π2

)
cos π2 + i sin π22 (cos 0 + i sin 0) D

√
2

(
cos π2 + i sin π2

)
2

(
cos π2 + i sin π2

)
cos π2 + i sin π22 (cos 0 + i sin 0)



Find the algebraic form of the complex number z = 2 (cosπ + i sin π).

A −22−2i2i B −22−2i2i

C −22−2i2i D −22−2i2i



Given complex numbers z1 = 2
(

cos π6 + i sin π6

)
and z2 =

√
3

(
cos 4π

3 + i sin 4π
3

)
, find the angle in

the polar form of the product z2z2.

A
2
9π

5
9π
3π
23π B

2
9π
5
9π
3π
23π

C
2
9π
5
9π
3π
23π D

2
9π
5
9π
3π
23π



Given complex numbers z1 = 2
(

cos π4 + i sin π4

)
and z2 =

√
2

(
cos 7π

4 + i sin 7π
4

)
, find the angle in

the polar form of the quotient z1

z2
.

A −π2
π

2−
3
2π

3
2π

B −π2
π

2−
3
2π

3
2π

C −π2
π

2−
3
2π

3
2π

D −π2
π

2−
3
2π

3
2π



Find the algebraic form of the complex number graphed in the complex plane.

Re

Im

Re

Im

−5 −4 −3 −2 −1 1 2 3 4 5

−5

−4

−3

−2

−1

1

2

3

4

5

A

A z = 2− 3iz = −3 + 2iz = 2 + 3iz = −3− 2i

B z = 2− 3iz = −3 + 2iz = 2 + 3iz = −3− 2i

C z = 2− 3iz = −3 + 2iz = 2 + 3iz = −3− 2i

D z = 2− 3iz = −3 + 2iz = 2 + 3iz = −3− 2i



Find the absolute value of the complex number graphed in the complex plane.

Re

Im

Re

Im

−5 −4 −3 −2 −1 1 2 3 4 5

−5

−4

−3

−2

−1

1

2

3

4

5

A

A
√

5345

B
√

5345

C
√

5345

D
√

5345



Find the absolute value of the complex number graphed in the complex plane.

Re

Im

Re

Im

−5 −4 −3 −2 −1 1 2 3 4 5

−5

−4

−3

−2

−1

1

2

3

4

5

A

A 2
√

342
√

5
√

6

B 2
√

342
√

5
√

6

C 2
√

342
√

5
√

6

D 2
√

342
√

5
√

6



Find the polar form of the complex number graphed in the complex plane.

Re

Im

Re

Im

−5 −4 −3 −2 −1 1 2 3 4 5

−5

−4

−3

−2

−1

1

2

3

4

5

A

A z = 2
√

2
(

cos π4 − i sin π4

)
z =
2
√

2
(

cos 3π
4 + i sin 3π

4

)z =
2
√

2
(
− cos π4 + i sin π4

)z =
2
√

2
(

cos 5π
4 + i sin 5π

4

)

B z = 2
√

2
(

cos π4 − i sin π4

)
z =
2
√

2
(

cos 3π
4 + i sin 3π

4

)z =
2
√

2
(
− cos π4 + i sin π4

)z =
2
√

2
(

cos 5π
4 + i sin 5π

4

)

C z = 2
√

2
(

cos π4 − i sin π4

)
z =
2
√

2
(

cos 3π
4 + i sin 3π

4

)z =
2
√

2
(
− cos π4 + i sin π4

)z =
2
√

2
(

cos 5π
4 + i sin 5π

4

)

D z = 2
√

2
(

cos π4 − i sin π4

)
z =
2
√

2
(

cos 3π
4 + i sin 3π

4

)z =
2
√

2
(
− cos π4 + i sin π4

)z =
2
√

2
(

cos 5π
4 + i sin 5π

4

)



Find the polar form of the following complex number.

−1
2 + i

√
3

2

A cos 2π
3 + i sin 2π

3cos π3 + i sin π3cos
(
−π3

)
+ i sin

(
−π3

)
cos 3π

2 + i sin 3π
2

B cos 2π
3 + i sin 2π

3cos π3 + i sin π3cos
(
−π3

)
+ i sin

(
−π3

)
cos 3π

2 + i sin 3π
2

C cos 2π
3 + i sin 2π

3cos π3 + i sin π3cos
(
−π3

)
+ i sin

(
−π3

)
cos 3π

2 + i sin 3π
2

D cos 2π
3 + i sin 2π

3cos π3 + i sin π3cos
(
−π3

)
+ i sin

(
−π3

)
cos 3π

2 + i sin 3π
2



Find the polar form of the following complex number.

1
2 + i

√
3

2

A cos π3 + i sin π3cos 2π
3 + i sin 2π

3cos 3π
2 + i sin 3π

2cos
(
−π3

)
+ i sin

(
−π3

)
B cos π3 + i sin π3cos 2π

3 + i sin 2π
3cos 3π

2 + i sin 3π
2cos

(
−π3

)
+ i sin

(
−π3

)
C cos π3 + i sin π3cos 2π

3 + i sin 2π
3cos 3π

2 + i sin 3π
2cos

(
−π3

)
+ i sin

(
−π3

)
D cos π3 + i sin π3cos 2π

3 + i sin 2π
3cos 3π

2 + i sin 3π
2cos

(
−π3

)
+ i sin

(
−π3

)



Find the polar form of the following complex number.
√

2
2 + i

√
6

2

A
√

2
(

cos π3 + i sin π3

)√
2

(
cos 2π

3 + i sin 2π
3

)
2

(
cos 4π

3 + i sin 4π
3

)
2

(
cos 3π

2 + i sin 3π
2

)
B
√

2
(

cos π3 + i sin π3

)√
2

(
cos 2π

3 + i sin 2π
3

)
2

(
cos 4π

3 + i sin 4π
3

)
2

(
cos 3π

2 + i sin 3π
2

)

C
√

2
(

cos π3 + i sin π3

)√
2

(
cos 2π

3 + i sin 2π
3

)
2

(
cos 4π

3 + i sin 4π
3

)
2

(
cos 3π

2 + i sin 3π
2

)
D
√

2
(

cos π3 + i sin π3

)√
2

(
cos 2π

3 + i sin 2π
3

)
2

(
cos 4π

3 + i sin 4π
3

)
2

(
cos 3π

2 + i sin 3π
2

)



Find the polar form of the following complex number.
√

3√
2

+ i
√

3√
2

A
√

3
(

cos π4 + i sin π4

)√
3

(
cos 3π

4 + i sin 3π
4

)√
2

(
cos π3 + i sin π3

)√
2

(
cos 2π

3 + i sin 2π
3

)
B
√

3
(

cos π4 + i sin π4

)√
3

(
cos 3π

4 + i sin 3π
4

)√
2

(
cos π3 + i sin π3

)√
2

(
cos 2π

3 + i sin 2π
3

)

C
√

3
(

cos π4 + i sin π4

)√
3

(
cos 3π

4 + i sin 3π
4

)√
2

(
cos π3 + i sin π3

)√
2

(
cos 2π

3 + i sin 2π
3

)
D
√

3
(

cos π4 + i sin π4

)√
3

(
cos 3π

4 + i sin 3π
4

)√
2

(
cos π3 + i sin π3

)√
2

(
cos 2π

3 + i sin 2π
3

)



Find the polar form of the following complex number.

−
√

5
2 + i

√
15
2

A
√

5
(

cos 2π
3 + i sin 2π

3

)√
5

(
cos π3 + i sin π3

)√
5

(
cos 2π

5 + i sin 2π
5

)√
5

(
cos 3π

2 + i sin 3π
2

)
B
√

5
(

cos 2π
3 + i sin 2π

3

)√
5

(
cos π3 + i sin π3

)√
5

(
cos 2π

5 + i sin 2π
5

)√
5

(
cos 3π

2 + i sin 3π
2

)

C
√

5
(

cos 2π
3 + i sin 2π

3

)√
5

(
cos π3 + i sin π3

)√
5

(
cos 2π

5 + i sin 2π
5

)√
5

(
cos 3π

2 + i sin 3π
2

)
D
√

5
(

cos 2π
3 + i sin 2π

3

)√
5

(
cos π3 + i sin π3

)√
5

(
cos 2π

5 + i sin 2π
5

)√
5

(
cos 3π

2 + i sin 3π
2

)



Find the algebraic form of the following complex number.

cos π4 + i sin π4

A

√
2

2 + i
√

2
2

√
2

2 − i
√

2
2

√
3

2 + i
√

3
2

√
3

2 − i
√

3
2

B

√
2

2 + i
√

2
2

√
2

2 − i
√

2
2

√
3

2 + i
√

3
2

√
3

2 − i
√

3
2

C

√
2

2 + i
√

2
2

√
2

2 − i
√

2
2

√
3

2 + i
√

3
2

√
3

2 − i
√

3
2

D

√
2

2 + i
√

2
2

√
2

2 − i
√

2
2

√
3

2 + i
√

3
2

√
3

2 − i
√

3
2



Find the algebraic form of the following complex number.

3
(

cos π2 + i sin π2

)
A 3i−3i3 + 3i3− 3i B 3i−3i3 + 3i3− 3i

C 3i−3i3 + 3i3− 3i D 3i−3i3 + 3i3− 3i



Find the algebraic form of the following complex number.

8(cosπ + i sin π)

A −888 + 8i8− 8i B −888 + 8i8− 8i

C −888 + 8i8− 8i D −888 + 8i8− 8i



Find the algebraic form of the following complex number.

5
(

cos 3π
4 + i sin 3π

4

)

A −5
√

2
2 + i5

√
2

2
5
√

2
2 − i 5

√
2

2
5
2 + i52
5
2 − i 52

B −5
√

2
2 + i5

√
2

2
5
√

2
2 − i 5

√
2

2
5
2 + i52
5
2 − i 52

C −5
√

2
2 + i5

√
2

2
5
√

2
2 − i 5

√
2

2
5
2 + i52
5
2 − i 52

D −5
√

2
2 + i5

√
2

2
5
√

2
2 − i 5

√
2

2
5
2 + i52
5
2 − i 52



Find the algebraic form of the following complex number.

2
(

cos 3π
4 + i sin 3π

4

)

A −
√

2 + i
√

2
√

2− i
√

22 + 2i2− 2i B −
√

2 + i
√

2
√

2− i
√

22 + 2i2− 2i

C −
√

2 + i
√

2
√

2− i
√

22 + 2i2− 2i D −
√

2 + i
√

2
√

2− i
√

22 + 2i2− 2i



This is the last Page of the puzzle. You can return to the gameboard by clicking here.




